KomMOmHmpoBanHubIe
ypaBHEHUSA

3agaHusa ons yCTHOro cyeTa



Hanawnre KOPHU YPABHEHUSA

(x—5)log, (x—1)=0

[1paBUNbHLIN OTBET: 2, 5



Hanawnre KOPHU YPABHEHUSA

(x+2)log, x=0

[1paBUNbHbLIN OTBET: 1



Hanawnre KOPHU YPABHEHUSA

(2x=7)Vx—4 =0

[1lpaBUNbHLIN OTBET: 4



Hanawnre KOPHU YPABHEHUSA

(x+1)10g3(5—x)=0

MpasunbHbii oteeT:  —]: 4



Hanawnre KOPHU YPABHEHUSA

(x2 —9)\/2—)6 =0

[1paBUNbHLIN OTBET: —3; 2



Hanawnre KOPHU YPABHEHUSA

(2x—8)-3x=0

[1lpaBUNbHLIN OTBET: 4




‘ Hanaure KOPHU YPaBHCHUA

[1lpaBUNbHLIN OTBET: —1




Hanawnre KOPHU YPABHEHUSA

(x—10)3/7—x =0

MpasunbHeiid oteet: /- ] ()



Hanawnre KOPHU YPABHEHUSA

Jxlogg (x+4)=0

[1paBUNbHbLIN OTBET: 0



Hanawnre KOPHU YPABHEHUSA

2" -log, (—x)=0

[1lpaBUNbHLIN OTBET: —1




